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This question paper has three Sections A, B and C. In Section A all questions are compulsory
and carry 10 marks each. In Section B candidates have to attempt only five
. questions which carry 8 marks each. In Section C candidates haveto
attempt only one questton which carries 15 marks. -
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Section —A (8T A)

"L Suppose following data are given for an economy for the Budget in (Crore of Rupees):
Tax Revenue = 803516 :
Non Tax Revenue = 187857
Recoveries of Loans = 12738
Other Receipts.= 36637
 Borrowings and other liabilities =410625
i.  Find out the Capital Receipts

ii. Find out the Revenue Receipts

iii.  Find out the Total Receipts

iv.  Explain the meaning of Budget Expenditure. "~
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& T = 803516

I FT ToET= 187857

o7 B TIT= 12738

T it = 36637 _
| ROT T 3 aRE =410625
I ofrore stfSerit < st Y
ii. 3T St A o S
iii. o STicEr i Ao H

iv. Wmﬁmmmm

2. Suppose for an economy the followmg Balance of Pay
2015-16 (in US S$billion):

A. Current Account .
. Exports= 1456
Il Imports=307.2
III.  Invisibles(Net) =67.2 ‘
a) Services =45.3
~ b) Transfers=22.4
c) Factor Income = - 10.5

B. Capital Account

[.  External Assistance = (0.2
II. ECBs=-09 .
. Short ~term Debt =-12
IV.  Banking Capital =17.3
Of which;

Non —Residents Deposits =10.1

Foreign Investment = 7.9
a) FDI=167

b) Portfolio Investment -8.7

V1 ° Other Flows= 1,0

Capital Account Balance = 25 4

C. Errors and Omissiong = . 04

Find out the trade balance,
. Find out the curren

Find out the Overal
Define the term Ba

taccount balance,
I balance,

lance of Trade,

ments data is given for the year
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A. dre] @1dr
I forfd = 145.6

1. 3mara =307.2
L. sree (yay) =672
a) ard =45.3
b) FEAERUT=22.4
'C) HEHE A1 = - 10.5
B. E‘I\Gﬁﬂ?f rdr
V. S SR
V. 4 (ECBs)=-09
VI 3159 FrdeT ®oT =-1.2
VIL 3T 9ol =17.3
Sd '

A gardr /AT =10.1

VIIL - fadsl fswr =79
3 o7 Tl @aer = 16.7

-IX 39 Yarg = 1.0
Ffm Qrar QTQ'=25.4

C. TeTll TAT 3 I = - 0.4
Solrer T 91 (TR TR s T W) = 24.9
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Section -B (#TeT B)

()
3. Vet ate the key provisions of the Paris agreement?
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" trade for the last five years. .
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Xplain India.'s Position in the Glopa] DI 2014
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N N development inc
A9 Rerg Tais Tqr maﬁaa;dex (HDm??E
AT Y | s %?

Sectiop

C
Explaj ol

[1. What is he Union budgét"
| ‘ ¢ ! N the Proc

ess of b i . ‘
| Udget Implementation in [ndia.

R ¥ e
12. The Fourtegngp, Finance i ' ﬁl

approach of the Previoyg ﬁ?n::nn

N way .
. €€ compmj o ded
1491 0T sy

' ]3. U& i
> d Ce

Capital accoypt balanceg in Ing; of payments? ét h
h 137 . :

@WWWWWM§

as bee |
N the Iecent development of :




